
STEEL CRAWL TUBE 42" ASSY.

Figure 1

Figure 1
See

Assembly View

R3.5- 1500-STL

Figure 2
See

See Panel Assembly
Page R35-1600 

Figure 2

Rev. C

Page 1 of 2

Manufactured by 
Krauss Craft, Inc.

Phone: 800.333.8519

Plan View



   
A) Use liquid thread lock (such as Loctite) with 
all threaded hardware that does not include self 
locking nuts.

B) Refer to R3.5-1600 Panel assembly page for 
instructions.

Step 1.
Attach Panels and Panel Stiffeners to the Steel 
Crawl Tube halves using the hardware as shown 
in Figure 1.

Step 2.
Place the Panel-Tube Assembly on the decks 
with Panels resting on top of Decks.  Attach 
panels to Posts and Deck as shown on 
assembly page R35-1600.

Step 3.
Attach Steel Tube halves together using 
hardware as shown in Figure 2.

Step 4.
Snug tighten all fasteners.

Step 5. 
Check to ensure proper placement of the activity 
and  make adjustments if necessary.

Step 6.
Fully tighten all fasteners.

Installation

Specifications
CRAWL TUBE:
Shall be formed, vinyl coated, 12 gauge steel.

PANELS:
Shall be 3/4" thick, high-density, plastic laminate.

HARDWARE:
Shall be zinc/nickel plated, galvanized or stainless 
steel as required to resist rust and corrosion.

Periodically tighten all screws, bolts and nuts. 
A periodic inspection of all parts is necessary. 
If a part is broken or worn, replace immediately.

Maintenance

Parts List

8219

R35-1600

4665

9103092-TR

9103062-TR

9333002

9463160-BLK

Steel Crawl Tube Half

Round Panel (Tube)

Tube Stiffener Sets

3/8 x 2-1/4" Button Hd. Bolts

3/8 x 1-1/4" Button Hd. Bolts

3/8" Washers

3/8" Black Cap Nuts

2

2

2

24

12

72

36

Rev. C

Page 2 of 2

Manufactured by 
Krauss Craft, Inc.

Phone: 800.333.8519Manufactured by 
Krauss Craft, Inc.

Phone: 800.333.8519

STEEL CRAWL TUBE 42" ASSY. R3.5- 1500-STL


